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1-4 WHE = 36 4 70 m 12,500 H (1 FpfH]) 1 IRFfH] & H
2-1 W= 30 4 66 i 12,000 [ 1-1 g = 120 3,500 1,800 14,400
2-2 g = 20 44 60 nt 10,000 [ 1-2 WfffE = 30 1,700 900 7,200
2-3 HHE= 36 4 70 i 12,500 M 1-3 WHE=E 36 1,800 900 7.200
2-4 HHE=E 36 4 70 i 12,500 M 1-4 HHE=E 36 1,800 900 7.200
Lzgaz 20 4 52 i 10,000 M 2-1 WHE= 30 1,700 900 7,200
INEEEER 10 4 26 nt 5,000 1 2-2 WHE= 20 1,400 700 5,600
ARV AN - 10,000 ni 10,000 2-3 WHE=E 36 1,800 900 7,200
2-4 WHE=E 36 1,800 900 7.200
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1-1 BFEE | 6,200 | 12,500 9 | 18700 | 25000 | 31,200 | [[ZZ7F - 2,000 1,000 8,000
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1-3 fHiE= 3,100 4 6,200 4 9,300 [ 12,500 M 15,600 H
1-4 HE= 3,100 4 6,200 4 9,300 [ 12,500 H 15,600 H
2-1 WHE= 3,000 [ 6,000 M 9,000 [ 12,000 H 15,000 H
2-2 WHE= 2,500 M 5,000 M 7,500 M 10,000 H 12,500 M
2-3 WHE = 3,100 4 6,200 4 9,300 [ 12,500 H 15,600 H
2-4 WHE = 3,100 M 6,200 4 9,300 [ 12,500 H 15,600 H
DiRE 2,500 M 5,000 M 7,500 [ 10,000 M 12,500 [
N 1,200 M 2,500 H 3,700 [ 5,000 4 6,200 4
A AV 2,500 H 5,000 H 7,500 M 10,000 H 12,500 H
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2-2 WHE=R 2,500 M 5,000 M
2-3 WHE= 3,100 M 6,200 4
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ey 2,500 M 5,000 M
IR 1,200 M 2,500 M
7T R 2,500 M 5,000 M
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